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Topic:- Child Development & Pedagogy (CDP)

1) “Individuals are born without built-in mental content, and therefore all knowledge comes from

experience or perception.” This notion is referred to as ./ vofad faer foesdt Gfﬂ'ﬁ'f%ﬂ
RS U0 & U1 81 B, 3R gafere weft 919 3rgHa a1 yRon 9 31 §17 §9 YRum
C| & ¥U § "efild far s g1

1. Tabulanota/er\ICI (e Arer)

2. Tabula rasa / ATHHA Ha:Feufa (eIt I14T)
3. Tabula primus / ATYHA Tieell (AT UTSHH)

4. Tabula novus / ATYA AlGH (Lol rerd)

Correct Answer :-
« Tabula rasa / ATGHA FA:TEATA (TelT I14T)

2) All learning is by-and-large successful when it is / I SUfRTH ITHT=E: d e
Ihd gid § o o wmar 21

1. Resource rich / GO TUeed
2. Self-directed by the learners / freTiorat aRT W-m
3. Technology led / GNTITEhT AT ﬁ?‘j(‘a

4. Teacher led / T&TeR T ?I?]_RT

Correct Answer :-

o Self-directed by the learners / T8I gRT Ta-fAERAa

3) Which of the following is the technique of classroom management where a student displaying
negative behavior is separated from the rest of the class? / ﬁl’ﬁﬁ'@ﬂ' 7a ﬁq-'\‘ﬁ DT UdU
B PP ¢ T8l TPRIHAD HAER USRI B ITAT TP BT AT H&T A (T g1 STl 82

1. Satiation technique / _g'% dhellch


Lenovo
Stamp

Lenovo
Stamp


2. Extinction technique / TRAATE Theileh

3. Corporal punishment / QTRIR® &3

4. Time out technique / HHI HHATH Icheilch

Correct Answer :-

o Time out technique / HI HHTH cIcheilch

4) Which of the following is not true about the demonstration method of teaching? / m s

¥ o Rgor & sifirafea (AT $ IR & g T8 22

1. The focus is on the demonstration of concepts through experiments/activities / 3TTYUROT3 Pl

ue 2T U/ fhaTehelTdt U Shigd &rar &l

2. It can be used for a multicultural classroom /Wwagﬂﬁiﬁiaiﬁ heTT o Torw fopar S
T

3. The learners gets an opportunity to participate / fﬂmfﬁa’ra#rmﬁaaﬁaﬁrw 37T [ Herdar
el

4. All the topics can be covered by this method /34 fafer gRT Tl fawdi &l &er’ T ST T &

Correct Answer :-

« All the topics can be covered by this method /58 TS ERT T8 fawdt o dhax TEhaT ST ThdT & |

5) A 20 year old girl’s mental age is 12 years. Find her IQ. / TP 20 ITd G| ?I@ﬁﬁ CAR BTG

U 12 19 g1 S9! gfsafsy Heifer|
1. 100
2. 125
3. 60

4. 65

Correct Answer :-

6) The condition wherein an individual loses awareness and flees his own identity is known

as___./ 9g fufa od #15 sufed SITReoar | 3a1 @ 3R 3ru-l ¥9d 31 ugar &)
BIS AR, & &Y H FHE ral 21

1. Shock / ATdTd



2. Repression / GH
3. Trauma / 3TTHETT

4. Fugues / ®aT

Correct Answer :-

+ Fugues / ®JT

7) The way a person presents any information in his/her brain is an example of his/her. / o EE)

ﬁﬁm?ﬁﬁwﬁﬁﬁaﬂmﬁwm%,wmﬁﬂm
Jaleul

1. Personal characteristics / G GTﬁ-IF‘T&I'UT
2. Cognitive characteristics / <llcH® 3fAT&TOT
3. Emotional characteristics/ﬂ'l_cl'C[U‘f AfArreTor

4. Academic characteristics /fQTaTUT 3rfArereor

Correct Answer :-

* Cognitive characteristics / G<ilcaldh 3TTRI&TOT

8) The father of Intelligence tests is . [/ gfex USI&IVI & STD gl
1. Francis Galton / WIf&Ig MTeed

2. James Cattell / S5 el

3. Alfred Binet / 37e%hs faad

4. Karl Pearson / Prol TOTTT

Correct Answer :-

. Alfred Binet / 376%3 a3

9) GDD is a developmental disability recognized in children who are ./ SirStst U Ao

Tt srgrar g =il T B et 21
1. below 5yrs. 7 5 a§ ¥ oI JTai A
2. age 12-14 yrs. / 12-14 9§ 6T 31g H



3.above Syrs. / 5 a¥ ¥ 37AF & Tear H
4, above 18 yrs. / 18 a¥ ¥ W

Correct Answer :-

e belowSyrs. 7/ 5 a¥ § o It A

10) If the chronological age and the mental age of the child is 15 years. He will be classified into
which category? / If& F= 1 FragHAF WY IR AGRAF Ig 15€ 71 O 37 Ty Aoft F
Fafipar faT STwen?

1. Superior / 3=
2. Normal intelligence / €1 g
3. Genius / UTaHTRITT

4. Below normal intelligence / @AY gig & =

Correct Answer :-

« Normal intelligence / HHART g

11) According to Piaget when an infant reaches about 7-9 months of age they begin to develop what he

called /RS F HER, S T Y G 79 A\ A 37 aF dggar ¢, I
fFRa g oo & o 3= HET &

1. Egocentrism/ ST s irEA\J'J:I

2. Personal fable/ S Tthd Td Chtl-(:l-ld

3. Object permanence/ ¥ I Ricd
4. Inductive reasoning/ JTITHATcHD ab

Correct Answer :-

» Object permanence/ d&q TUlca

12) According to Jean Piaget, cognitive development starts at stage / SfleT TS & IENR,
HAEATCHE fawra IEEYT W YE g1 ¢

1. Concrete Operational / Qﬁ-ﬂ‘ B [cHD
2. Preoperational / t[c‘f-?:i fohTcHD
3. Formal Operational / uaie afcharcas



4. Sensorimotor / FddT UL (FE{AI)

Correct Answer :-

« Sensorimotor / daT UL (FE{AI)

13) According to Jean Piaget, preoperational children are/ SiteT TOITSt & IR, qﬁ-aﬁmm
HIEYT F T FH T 872

1. Egocentric/ HTcHAD G (33|mi°‘§as)
2. Flexible/ T (Felfeeerel)
3. Complex/ Sifeer

4. Social / GrATTSIH

Correct Answer :-

» Egocentric/ JTcHbIgd (3a||@io—§as)

14) What concept takes into account an individual’s mental and chronological ages? /

frdlt safaa @ A@f@s AR FeEHRS WY FHla-d FTURon A= A @l 32

1. Cognitive quotient / TSI HTITHol
2. Intelligence quotient / gi?ﬂidl
3. Intellectual quotient / S1TGeh Il

4. Functionality quotient / PIATcHDAT HTIThT

Correct Answer :-

 Intelligence quotient / @iaai'&ﬂ

15) What is the term used to denote an unfavorable attitude towards members of a particular ethnic or

religious group? / fordl ﬁﬁwmmaﬁ?aﬁg*m*qﬁrqﬁ@wﬁ&ﬁa&ﬁ#
& fow form ereg F1 gAer fRam STar 872

1. Prejudice / TU&TUTA
2. Racism / ¥eldlq
3. Enmity / QQ?FIT-?[

4, Fanaticism / Eﬁa\azal



Correct Answer :-

 Prejudice / U&TUTd

16) What type of memory may be involved in carrying out complex mathematical problems? / Sfed

AT FAEET Y QU A A e gwr f Hfa afFafad @ wwd 82
1. Iconic memory / UTAHT FFITeUd THIA (3ShiTAd HANT)

2. Echoic memory / Ufaeafa Tifd (Tadssd HARY)

3. Working memory / Toled THfd (Tfhar FHARY)

4. Sensory memory / Hadl FHfA (G AART)

Correct Answer :-

« Working memory / Toled FHTA (afher AAY)

17) In big 5 model, personality types are distinguished based on | 98 5 ASd #, FFdea
¥ TFR ¥ IUR W RARse fFr o §

1. Culture personality/ Hi{-fiﬂradv cqTehcd
2. Personality traits / cgThaTd TafRrEdr

3. Emotional intelligence / HTdeh gifgerdr
4. Season based/ T ITUTRA

Correct Answer :-

« Personality traits / <TTehaTcd TafIEAT

18) In which stage of Piaget’s theory of cognitive development do children develop the concept of
conservation? / ST & HATCAF fae & fAguia & fF@ wXoT # T<ai F wW&T0r H
fguia Refaa aar

1. Concrete operational stage / 'ﬂ?ff giehdTcH® Tl
2. Post-formal stage / UrEe-3iuaTies 3raEr

3. Pre-operational stage / ‘:Lé'—{-l IERIGLERCER2)

4. Formal operational stage / 3T giehdTcH® ATl

Correct Answer :-



» Concrete operational stage / 'ﬂ?ff giehdTcH® Tl

19) Thorndike’s Law of Readiness is also known as: / QTI?"?.'IEEF F dRar & F9H F SYq oH g
oY ST ST &

1. Law of Exercise / 37901 & fagaT

2. Law of Effect/ YHTd &l [HIH

3. Law of Action Tendency / T Cl?-]_ﬁf a1 A

4, Law of Set or Attitude / §€ 3T ?Flc_-ﬁqtf?f CAMEDE

Correct Answer :-

« Law of Action Tendency / &TJ qq% CAMEDE

20) Which of these includes unhappiness when defining abnormality? / 3IGTHTEIAT S IRMAAT FS
AT g ¥ frwar argef anfe @2

1. Danger to self/others/ T8/ & T g1d®H
2. Deviance/ Tadrerd
3. Dysfunction / fJdeR

4, Distress/ U181

Correct Answer :-

« Distress/ 13T

21) Which of the following is not an individual difference that affects learning? /

fAff@a & @ Fia-1 e afFaera 3ax A & S 3T Y gy war 82
1.Gender/ﬁ7’T

2. Height / 5dTS
3. Socioeconomic status / Hm'lﬁ?ﬁ-}lﬂzﬁ Tafa
4, Caste / ET%

Correct Answer :-

o Height / _"J"_T-|-|é



22) Which of the following is not a part of working memory? / fafaf@a & ¥ sia sl
wfa &1 Rear adt 82

1. Central executive / P PRIBIRT ({:Io-gel ’\’CI-{-M-QLTECJ)

2. Phonological loop / TaR-fasra gy uier (wiardifoieho o)
3. Episodic buffer / oA E T

4, Sensory register / qagr Toeex

Correct Answer :-

» Sensory register / e e

23) Benchmark assessment is also known as: / STHT 3Tl &Y qg oY gl SIldl %’:

1. Summative Assessment / THITTcHD 3TThole]
2. Diagnostic Assessment / IGAGIEERICTC]
3. Interim Assessment / 37T 3Teholel

4. Formative Assessment / [ ATOTIcaAh 3TTholel

Correct Answer :-

« Interim Assessment / 3T 3Tholel

24) In Erikson’s theory, the aspects individuals generally focus on developing during adolescence and

then during young adulthood is called  /UR&HT & ﬁaﬁn?r A, 34 qﬁl’!ﬂ' I AHAR W
ﬁ:an%Wﬁwﬁmmﬁwmméﬁaﬁmm%aﬁrﬁwwm#
ghm FgT ST B

1. identity, basic trust/ UgdTeT, Hel ICEIE:
2. identity, intimacy / U&dTl, AT

3. intimacy, identity / 3-ididldl, Uedld
4. basic trust, identity/ 3l g, geara

Correct Answer :-

« identity, intimacy / U&dTel, HTcHIT



A child-friendly learning environment shall have / T <9 & fav HW FTH qIgEor #H
e gem:

1. Learner discipline , TRr&meff AJRATHA

2. Learner autonomy / et 1 Faradaar
3. Linear exposure / (& 3TTaI 0T

4. Teacher authority / T18Th &I TARPR
Correct Answer :-

« Learner autonomy / TI&TTT I Targadr

26) Castration anxiety occurs in which stage of psychosexual development? / A E R i
i ®Y 3gTEYT H FEgHIoT [T (FEeUA veEd) g §2

1. Anal / T[&T (TeTeT)

2. Oral / FIT&EH (3A)
3. Latency / YT (&)
4. Phallic / oif3Th (thfeih)

Correct Answer :-

« Phallic / 9Tk (Hforep)

27) Rehearsing for later relationships is called

1 91 % fredl & fw qaream w1 I B

1. Developmental Socialization / TIBIATcHD THTSTHIOT
2. Secondary Socialization/ fgciTIe HATSIHIOT

3. Primary Socialization/ TTATHG FHATSIHAIOT

4. Anticipatory Socialization/ TcITRITcHD HHTSTHIOT

Correct Answer :-
« Anticipatory Socialization/ TcITITcHE GHTSIHIUT

28) Children from disadvantaged groups are less likely to have good nutrition, access
to good health care, and opportunities to /ﬁﬁﬁ '\q'«Fl:b’T & T4l F HoT



q’rcror,m?&rwwa'ama?qg‘irsﬁt & ITEI Y GHTGAT FH
g Bl

1. Play / @Wold

2. Learn / Hr@aY
3. Study / I<IIA
4. Enjoy / 3TTg

Correct Answer :-

 Learn/dr@a

29) A teacher can replace the term 'Failure' in his/her feedback with / U fR1&/% g+t ufafear
H ¥ ' qBAdr Weg B UfaTiUT H gt 8-

1. lack of intelligence/gﬁ' fr HAT
2. Incompetency / 3113l
3. learning disability 3TTRI9T3T 31873TdT

4. emerging in Iearning/m H ST

Correct Answer :-

e emergingin Iearning/m H ST

30) One student is not able to learn in the class as his/her pet is not well. Most likely factor
affecting learning is -/ T BT H&T H Tg1 UG UT 38T 8 FP ITDT UTelr U] St 81 8
SFRTH B YUIfId H3A aTe ) HHIAd RS @

1. lack exercise/ S{WITH Dt BH

2. adverse emotional condition/ MTSCQH HIJATcHD %QT%
3. lack of sleep/ dAig &r Her
4. lack of nutrition/ GINUT hT HaAT

Correct Answer :-

o adverse emotional condition/ l,«l‘l?lcpol HIdATcHD mﬁ

Topic:- General Hindi (L1GH)



1) 99 gH g1 g1 St at gu gfra oik 3ud el &1 g1a widt-wid fararal & uentt Iud g foramn
3Teie o, ST Rt et ar Iu=ar & ot = v g1 98 o gw S ) € i 97 R e
g Rt 8 SR ga feAl 9 sud SIS et 7 uT| snefiral ¥ ugd R SHaR A iR wHaRl | g U T
Y YT 919 39 SRAl W D13 AHGR 9 7 9| 31 519 78 g1 8% T8 & FHaR] SR smefral § Wi g5 8,
I UM &1 TG1a H31 M GiRwd §, 99 981 $© | 41| Afe=1 fage s+ areal ok fagmi 1, ’reiv 5o
v & @e Oar ok usT 2, foran @ 6 v 9 T o1 919 U8 R} 958 TRA A R SHR P TR A
TEY 78 Tt N1 3R 3R g IT! fobars U 3R Uers! 3R SHaR) & R ef¥al F TR A 3 Y gR Qg
HTqH T 6 U1 6y SR I|T /N

ST TR F UgH 1 U T Y= T I«ik Farse|
W 3T gferan e e & 4t st 82

1§ PIE

2. el JETHAT

3. el STeTert

4. G AR AR g1t

Correct Answer :-

2) 99 qH 931 g e @ gu gt ok 3ud ergftrat @1 e Widl-uidl faral ¥ uehft 3uH g o
3Teie o, S fpelt et a1 Iu=ar & oY = v G| 98 o gW T @1 1 % 97 eRe arEl-were
g Wit @ SR 9gd fel 9 sud SIg et 7 uT| nefil ¥ ugd Rk SHaR A 3R wHaRl | g U T
Y YT 9 §H Ul TR HIS FHGR dier 7 A | 31951998 giane¥ a¥e.:d e 3R el 3 Wi §8 3,
I U BT WaTa Hen ot gi¥ed 8, 19 981 98,1 411 dfes fag. s aral ok fagr 1, forgiv ga
fawa &) @a T 3k usT B, foran @ % v qua.edr 41oid 98 el deg TRA At 3R 3HW $IS JFeR diel
8t T8 gl A1 3R 3R g P! fhard ug 3R UgTs! 3R 9HaR) &t QR 3fEdl &1 TR A ¢ Y g ge
HTqH T 6 U1 6y SR I|T /N

IUYa TR P UgHR A1Y YR Y U= $T Ik Tarsy|
TR: Woid &1 I eg 1 32

1. fastta

2. Hfelel

3.3

4. 315l

Correct Answer :-

3) 99 gU IS1 g S aY qu g 3R Sud Sefirl &1 gra Hidl-uidt fharal # ugnft| Iud g o
3Teie; e, ST et et ar Iu=ar & +ff = v g1 9 o gW ST 1 € i 97 R arE-were
g Rt @ SR ga feAl 9 sud SIS et 7 uT| snefiral ¥ ugd R SHaR A iR wFaRl | g U T



Y T 9 §9 WA W I AR 9 7 4| 311 o9 98 g1 88 TR & oaR| ok amefial @ vf g5 8,
I UM BT Ta1d BT Mt GiRwd 8, 9 981 99 | 411 Afe=1 fage w9 aral ok fagmi 1, ’reiq ga
favg &) @a T iR usT B, foran @ f ue qwy U1 o1 oid 9% eXdl 98¢ TRA At 3R 39w FS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R e &t R 33l 1 MR A ¢ Y g ge
HIH SN 6 TAT 7Y SR 78T e

ST TR $I UGH 1 T T Y= T &R qarsy|
U= T BT e g | @2

1. 33T

2. IAIAT
3. 79

4. TS

Correct Answer :-

4) 919 g 931 g St o g gfrar ok IuF nefirat &1 gra Mid-uid fhareal A uenit 3w g R
3T fora, Ia-r fosdt wert a1 Iu=amw § oft 9 firan ghm gs at gu s # 81 % ag Rl aral-sst
94 QR B 3R 9gd 1 ao 08 $Ig et 7 4T ATeiHal & Ugd b WM 3 3R e’ § Ugd U o
T YT 99 39 Ul W DIg AHeR 9t 7 1 oot 5 98 - 83 ave & Sas iR efaal ¥ v g8 §,
I UM BT Ta1a BT Wt GiRed 8, 919 98T 90 A 4T dfe=1 fagm s aral ofk fagmi 1, freiq g9
favg & T 9= 3R veT 2, foran @ & o 9wy 91 o7 o7/d, 0% R 98¢ TRA 4t 3R 3UW $IE SHeR ©iel
8 ¥g Fdd! A SR 3R 0 SA! fhars ue v, ugTsh Sk wiHay) @Rt ef¥al )l My A 3 o g e
HIGH SN 6 A1 THY ST TE1 e

ST TR P UG 112 IR T U= $T Ik ad1su|
WH: ‘UgTS’ BT Yargardt 1 g2

IR

2. gigsar

3.4

4. R

Correct Answer :-

5) 99 gU 931 g i &Y qu g 3k Iud Sefirl &1 gra Midl-uidt fharal # ughft | Iud qw o
3Tig frcrm, I it et ar Su=arw & off = e €11 e A g e ) 2 e R are-werst
i [Tt 8 SR 9ga feAl 9 sud $ig el 7 1| Mefidl ¥ ugd Rk IHaR A 3R 9FaRl & Ugd U T
UG YT 99 9 Ul R BIg AR e 7 Ft1 1T 99 98 a1 83 aE & THaR] iR el ¥ v g8 7,
I UM BT Ta1d BT Mt GiRwd 8, 9 98T $9 | 411 Afe=1 fage s aral ok fagi 1, ’reiq g9
fawa &) @ T iR usT §, foraT @ f ve qwy U1 o1 o9 9% Rdl 98¢ TRA At 3R SUW FS WFeR 9wl



8T 8 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ a) g g
TgH B U1 U SR I|T 8N

ST TR Y UgahR 2 T Y Y= T SR FaTSe|
U: SRl W TGl & Ugd S °T?

1. ST

2. S @A

3. efgsar

4. fopard

Correct Answer :-

6) 9 gH I! gt e at gu g 3R IuF el #1 gra M-l fararal A ughht| Sud qre e
3Tie; fora, S Rt et ar Iu=ur & off 7 v g1 97 | gu W @) € i 97 R arEl-we
g R @ 3R 954 3l 9 sud SIS et 7 uT1 3nefiral ¥ ugd Rk SHeR A iR wHaRl | ugd Uw T
Y YT 94 39 SRA W DS AHGR dter 7 4| 37T 519 7 gf1a1 8% TR & ora) o) omefr & Wt g @,
I WHM FT TaTd BT W g €, 5 g8l $9 1 11 A fagm w=e aral ik fagey 3, el 59
fawa &1 W I iR usT &, foran 8 6 ue 9wy tn 41 99 98 WRdl 98¢ TRA A1 R SR DS TR o
8T 78 gopel A1 3NT 3R gH 3! fhard ug 3R Ugrst 3R FaRl &t gl aiEa 1 1R ¥ ¢ a) g0 g
TTH R {35 U1 THY W19 IGT BRI

ITYe TR B! UeHT AR U Y U= BT Ik 9130
WR: eRelt fpa adf Rt 82

1. 3dl ay

2.3 § PIg AL

3. BRI a¥

4, AT@r-IIT a§

Correct Answer :-

. om@Er-aRIE ag

7) 9 g9 St gt e |t gu g ok IuF el #1 gra M-l fraral A ughht | Iud qre e
3Tie; fora, S Rt et ar Iu=ur & off 7 v g1 9 o gu W @) € i 97 R arEl-we
g R @ 3R 954 3 9 sud SIS et 7 uT1 snefiral ¥ ugd Rk SHeR A iR SRl | ugd Uw T
Y YT 9 59 SRA W DS AGR dter 7 4| 37T 519 7 gfra1 8% TRE & war) o) omefr & Wt g @,
I WHM FT Ta1d H31 W gfpd €, 5 g8l $9 1 911 A g w=e aral ok fagl 1, el 59
fawa &1 W I iR usT 8, foran @ 76 vo 9ay T o1 99 9% eRedt 98¢ TRA At 3R W $IS TR 9
8T 78 gl A1 3R 3R g 37! fhard ug 3R Ugrsl 3R 9HaRl &t YR 3fEdl &1 MR ¥ ¢ Y g? ge
TTH R {35 U1 THY W19 QT §RII



IUT TR P UgHR A2 IR Y U= $T Ik Farsy|
WA: SRl Ugd et o

1. &8

2. Gl

3. Y&H
4. I

Correct Answer :-

8) g qu S<1 &1 Sait &t g g 3k SHS el @1 gra Hidt-uid fharal A wehh | SwH gw R
3Teig e, Ia=r frelt werit a1 Iu=ar ¥ 4t 1 firew g1 g < qu St 81 8 i ag evelt ara-aRist
i [Tt 8 SR ga fAl 9% sud $Ig el 1 1| Mefidl ¥ ugd Rk IHaR A 3R SRl | Ugd U T
Y UT 9 3 CRA W DS AHGR dter 7 4| 37T 519 7 gfram 8% TRE & war) ok omefr & vt g @,
I T BT TA1d BT o GiRrd €, 519 98f 99 | 4T Afp fagm = aral ok fagr 1, freid g9
fawg &1 @ Jar 3R usT 8, foram @ 6 U 9wy 1 o1 99 U8 Ret 98¢ TRA At 3R W FIE TR
8T 8 ol A1 3R 3R gH 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 3fEal &1 1k ¥ ¢ a) g g
HTqgH B U1 96y 5% 381 gh|

ITY TR D! USHT Y I 7Y Y= BT I« 9130
e e § @ 919 T faur a8 82

1. TRl

2. pfadr

3. 3001

4. faay

Correct Answer :-

9) g qu S<1 &1 S & g g ok SHS el @1 gra Hidt-uidY fharal A wehh | Swd gw R
3THig e, Ia=r frelt werit a1 Iu=ary ¥ At 1 firew g1 g < qu St 81 8 i a7 evelt ara-aeist
i [Tt 8 SR ga fAl 9% sud $Ig el 7 1| Mefial ¥ ugd Rk IHaR A 3R SRl | Ugd Uw T
Y UT O 3 CRA W DS AGR dter 7 4| 37T 519 7 gfram 8% TRe & war]) ok omefr & vt g @,
I T BT TA1d BT o GiRrd €, 519 98f 99 | 411 Afp= fagm = aral ok fagr 1, freid g9
faw &1 @ Jar 3R usT 8, foram @ 76 e 9wy 1 o1 99 48 Ret 98¢ TRA At 3R W FIE TR
6T 78 gopel A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 3f3al &1 1k ¥ ¢ ) g g
HTqgH B 6 U1 6 SR I|T 8N

STIE TR B UgHR 1 IR T YT BT I« AT
U SRl & IRESATL oftaq & IR | fha arde @ a2



1. OifecadRT &
2. SO @A
3. danfaet A
4. fRICURRT

Correct Answer :-
o i

10) 99 g0 g1 g1 St &Y gu gfrar ok S sl @1 gra Sid-mid frarel # et S g foramn
3Tig fRrek, I it et o Su=arw & off = fire €11 e A g W & 2 F e R aret-aeret
g Tt 8 SR aga feAl 9 sud $Ig Smet 1 uT| snefiral ¥ ugd Rk HaR A iR SRl | Ugd U T
Y YT d 5 Ul TR BIS FHeR At 9 A 1o 919 g8 giar 8% @ & TaR! ok el @ wft g 8,
I TR &1 Ta1d AT Mt G 8, 9 g8l $9 | 4T Afe= fag s aral ok fagr 1, freiq ga
fawa &1 @ I ok usT 8, foran 8 6 vo wuy T o1 99 U8 Rt 98¢ TRY At 3R 3w $IS TR 9
81 78 9Pt A1 3R 3R g ITH! fohars v 3R vgrs! 3R SHaR) ) R efyal 1 TR A 3 Y R Qg
TTH R {35 U1 THY W19 QT §RII

ITYe TR B! USH AR U Y YR BT IR ad13¢|
WA: HidI-AIc fparal d foaeT gra faar gam g2

1. AhATh T

2. fa=ie ot

3. SR T

4. gfem &t

Correct Answer :-

11) 99 g0 g1 g Sreift &Y gu gfrar ok S smefrat @1 gra Sid-mid fparel # uehtt S g foramn
3T i, IaAr fosdt et a1 Iu=arw | ot 9 fira ghm g @t qu s €1 81 o a5 eredl aral-ast
g [Tt 8 SR aga fAl 9% sud $Ig SmeH 1 uT| snefiral ¥ ugd Rk HaR A iR SRl | Ugd U T
THY 4T 99 39 4Rl R B3 AHGR 9w 7 f1 3 o9 78 gFHam 3R a8 & AFaR) iR el § ui g3 8,
I TR &1 Ta1d AT Mt G d 8, 9 g8l $9 | 4T Afe=1 fage w=a aral ok fagr 1, freiq g9
fawa &1 @ A ok usT 8, foran @ 6 vo 9ay T o1 94 % eRelt 98¢ TR At 3R W $IS TR 9
TEY 78 It A1 3R 3R g ITH! fohars v 3R vgTs! 3R SHaR) ) R 8f3al & TR A 3 dY gR Qg
TTH R {35 U7 THY W19 QT &R

IUYT TR B! UGHR A ID 7Y U $T ik 9a13¢|
U= fagm &1 ord e 82
1. fafere 9=

2. afay I=



3. [aafora =
4, Auda =

Correct Answer :-

. AR I

12) wwaﬁﬁm&hﬁa@gﬁmaﬁ?maﬂaﬁﬁmmﬁﬁ M fraral & ughft I9d qw foramn
3Tig frek, I it et ar Su=arw & off = e €11 e A g T & 2 e R aret-aerst
i [Tt 8 SR ga fAl 9 sud $Ig et 7 1| el ¥ ugd Ry IHaR A 3R SRl | Ugd Uw T
Y UT 9 3 SRA W DS AHGR dter 7 4| 37T 519 78 gfra1 8% TR & Sar) o) omefra & vt g @,
I T BT TAd BT o GiRrd €, 519 98f 99 | 4T Afp= fagm = aral ok fagr 1, freid g9
fawg &1 @ Jar 3Nk usT 8, foram @ 6 U 9wy 1 o1 99 U8 Ret 98¢ TRA Y 3R W FIE TR
8T 78 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ a) g g
HTqgH B U1 U SR I@T 8N

SULT T B TGP A2 TS T YT PT IR AR
v g &1 e df-fasda 82

1. [+

2. dY+<Te

3. AT+

4, [+

Correct Answer :-

. ﬁl’+3‘|’|?f

13) wwaﬁﬁm&hﬁa@gﬁmaﬁ?maﬂaﬁﬁmmﬁﬁ M fraral & ughft I9d qw foramn
3Tie; v, S Rt et ar Su=ur & off 7 v g1 9 | gW ST @) € a7 R areEt-se
i [Tt 8 SR ga fAl 9 sud P13 el 7 1| el ¥ ugd Rk IHaR A 3R SRl | Ugd U T
Y UT 9 3 CRA W DS AGR dter 7 4| 371 519 7 gfra1 8% TR & war) ok omefr & vt g @,
I T BT TAd BT o GiRrd €, 519 98f 99 | 4T Afp fagm = areal ok fagr 1, freid g9
faw &1 @ Jar 3R usT 8, forar @ 6 e 9wy 1 o1 99 O Ret 98¢ TRA At 3R W FIE TR
8T 78 ol A1 3R 3R g 3! fhard ug 3R Ugrsl 3R 9HaRl &t QR 33l &1 1k ¥ ¢ a) g g
HTqH B % U1 96 SR I|T 8N

UL TR BT TP 1 IR Y Y= $T IR FA15Y |
URA: $EHI FWE ST & gt 82

192

2. IR

3.5 @ PIg A

4. BIEX



Correct Answer :-

14) 99 g9 g3t g1 St at gu gfrar ik 3u%F el o1 g1a widt-wid fararal & uentt Iud g foramn
3THg e, Ia=r freht werit a1 Su=ar ¥ ot 1 firem g1 g o qu St €1 8 i as Rl aral-wRist
g Rt @ SR ga feAl 9 sud FIS et 7 uT| snefiral ¥ ugd Rk SHaR A iR waRl | g Uw T
WY YT S 3 WRA W DIg JHGR A 7 A1 311 519 75 gFam &3 aRE & e ok el 4 wf g3 8,
I U BT TG1a BT Mt Giwd 8, 19 981 90 | 41| Afe=1 fagm s areal ok fagmi 1, f’reiv g9
fava &) @a T iR usT B, foran @ f ve g U1 o1 oid 98 eRdl 98¢ TRA At 3R 39w $IS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R 9Ha’l &t R gf¥df IR A A s ge
HTqH B 6 U1 6y SR 7T /N

ST TR P UgHR 1Y YR Y U= $T I} qarsy|
U AHAR] BT THada- a1 gRIT?

1. Silela}

2. SR

3. STTTaRT

4. STTeTeY

Correct Answer :-

15) W9 g0 g3t g1 SISt ot g7 gf=ar ik 3uS SMTefial o1 g1d Hici-Aid! fraral & ventt Iud g fora-n
3T e, Ia=r farelt werit a1 Su=ar A ot 1 fire g1 g ot qu St €1 @) i as Rt aral-wRist
f g B 3R aga fo= a@ 3ud 315 et 7 U1 el | ugd Rk wiMaR 2 iR 9aRt @ ugd Tw o
WY YT 91 $9 SRl R DS AHGR 9 7 A1 3T 519 I g1 8% T8 & Ia] S} el & vt g 8,
I UM BT Ta1d BT Mt GiRwd 8, 9 981 99 | 41| Afe=1 fagm s aral ok fagmi 1, ’reiv ga
fawg &) @a T iR usT 8, foran @ f uer qw U1 o1 oid U eRdl 98¢ TRA At 3R 39w FS 9FeR diwl
8t 78 gl A1 3R 3R g I} fhard ug 3R ugrsl 3R el &t R 3f3dl 1 TR A ¢ Y g ge
HIH SN 6 AT 7Y SR 78T e

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
U=: fohara &1 sgaa- grm?

1. &rdTe

2. foparer

3. fohdTel

4. feparen

Correct Answer :-

o fohard



§¢ 999-919T & TR

I 33T PR M A @

98 B¢t Yg Tl fafea

A vafarclt A §

g3 faeq Y agd wR g1

ag fafear =i-

g AR B

TGl 1 o1 fed eeia R

e T et & STl @

9% BId IRare fafean

fAvEi aclt & §

T3 T A gga WR g

ST U B UgHR AA1d I 9 a1 U= BT SR Tarse|
U: ‘BIE g ISt 91a’ & gerax &1 34 72
1. 17T gl

2. AT Bl

3. GRdTE A& el

4. 37U &RTT T deh] I1d Bl

Correct Answer :-

o HUAT SRATT & g a1 e

17) qg fIfear =i-

I IR $

TU-R FS & aM
IR, AW A B
98 BIdt "ardt Rifgan
A vEi areft A §

g3 31 ¥ 959 WR |
gg Rifgar =-

$S Gid B

¢ g9-9191 & FIfaR

I I3 Y M A 8
98 Bl Yg el fafear
M v archt A §

g3 fae A aga wrR g1



ag fafear si-

9T AR PR

Tl Tl BT e ecia we

Sl T At o STt @

a8 BIdt IR fafsan

A vl areft A §

9 T & 950 WR 3

STYT TR ) TR - UQ 9F a1 U= BT S®X a1z

;T A1 BT fa eera HR’ Ui 1 ord g2
130 § FIS A

2. &Y &1 e TEe & fow

3.7E & Ul ¥ gBa &

4, A& BT FITIAT PD

Correct Answer :-

favaiaclt & §

T3 3 A 9gd WR g
T8 fafsar =-

$6 Wid P

§¢ 99-914T & TR

T 33T PR M AW @
98 DIt Y el fafea
WA v are A §

g3 fae A aga wrR g1
T8 faufsar =-
g AR B

T A} &1 fed eea HR
I BT Hid & STl &

98 Bl IRate fafga
M v arclt A §

g2 7 A Sga WR g
ITa U=IIRT ) Ughx 1 IR 9 a1 U HT 3@ 9a1sv|

wx: Rif$ar aa arey «n @ndt g2
1.3 § PIS el

2. FIET

3. qHSAH



4. 381 & arel

Correct Answer :-

A v AR HF
a9 ¢ A 9gd WR B

SUYT T I UgHR A U0 9 aTd U= PSR a5l
"y A Weg A B Al 6JTR?
1. SgThaTddh

2. HATIdTdh

3. GHgATIHh
4, STfadras

Correct Answer :-

20) Tg Rf3ar a-
T AR
qu-s 3 & e
A, W E @A g
ag S Fandt Rfar
A 3wt ¥ g WK B
g Rfsar -



Fs G T

§¢ ga-amET F @R
3BT F AT &

#g e ¥ agd @R R

g Rz -

O AR &

e 7 FT Rer T =

FTACIR & &1 Ay o sl &

g% oIl IRdeT Rfsar

AH AN ¥ 9gd 9N T

39T UCIRT H TGH A IS A qd WA FT el qaqmsv]
9eel: ‘AR’ T GATAT e F4AT 272
1. pael Algedd

2. had UH

3. bad Te

4. SR Iy

Correct Answer :-

o ISP T

21) g Rf3ar |-

T AR T
qu-s 3 & e
A, WA @ AN E
9% o1 Fa Rfsar
A 3wt ¥ g WK B
g Rfsar -

H5 @A

9¢ ga-ameT F @i’

W 339 T W Al ¥
a7 B ¥ A A
e vt are # §

73 e & 9ga @R ¥
g Rfsar -

T AR

T AGT & e T W
STl HT Al o STl #
g8 o1l IRde Rfgar
7H AN ¥ 9gd 9N T

39T UEIIT H TGH AT IF A q oA FT el qa1sv]



9eeT: A& T gATIare A8 &2
1. Usaeld

2. garfer
3. @idr
4, afear

Correct Answer :-

22) gg fRfsar a-

T AR
qU-s S F &=
M, I @mANE
9% o9 wa Rk
A el § g 9N B
g Rfsar -

H3 @i FT

§¢ ga-amET F @R

W 33 HT I AN}
g oY 5 are R
7 e ¥ agd =N ¢
g Rfsar -
T AR

T AT FT R’ T a1
S FT A F AT §
9§ ol IRdelr Rfzar
A A § 9§ R P

39T UCIRT H TGH A IS A qd WA FT el qaqmsv]
TeeT: IR ¥ aead §7?

1. 7€ ¥ g

2. fia=

3. 14T

4.9 & b

Correct Answer :-



23) Tg fRAfyar s

T AR
qU-s S F &=

TR A, W T A
gg oK Fam R[far
AH e § TG WK §
g Rfsar s

F6 T T

§¢ ga-amET F @R

W 33T FT I A &
7 RS § 95 WX P
g Rfsar -
T AR

TE T FT T @ =W
ST &1 AN F AT 7
a8 o IRreh R
TH AN ¥ 9gd 9K T

394Fd UCIRT H TGH A IS A q WA FT el qaqmsv]
weeT: U@l & @1 Har g2

1. &Arer

2. 9%he

3. Orelm

4. ollel

Correct Answer :-

24) g Rf3ar -

9 AR
qU-s 3 & ae

¥ @, W E @A
a8 oI wan Rz
A 3wt ¥ g WK B
g Rfsar -

o @ FT

9¢ ga-ameT F @R

T 33 #T am Al
g oY g Al Rz
73 e § 9ga @R ¥
g Rfsar -



3YYFA ISIIT Y TgHT Al & AT dTel G FT el I3V
yeeT: ‘g 1 fadT w4 87

1. Sferre

2. TR

3. Ty

4. 949
Correct Answer :-

. Ty

25) gg fRfsar -

I AR
qU-sX S F &=
WA, WA FmANE
9% o9 war Rt
A Il F g 9N B
g Rfsar -

H3 @i FT

§¢ ga-amET F @R

W 33 HT I AN §
g oY g aver R
7 e ¥ aga @R R
g Rfsar -
T AR

Tt AT FT R’ @ =
S FT A F AT §
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WeeT: e Hfaar & Rfgar 6 32

1. =ATel Tl arell

2. 30D aer

3. IRTell



4, gary

Correct Answer :-

26) gg fRfsar -

T AR &
qU-sY S F =
A, WA @ AN E
gg o1d gAY Rz
TH el § TG WK §
g Rfsar -

Fo W T

§¢ go-9T F @R

W 3BT FT W A
a§ oI g areh RAfdar
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g Rz ar-
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e A FT e @ F
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g o1 IRde Rfgar
AH A ¥ 9gd 9N ¢

39T UEIIY HI YgHT A IS ST aTd ToA HlpJeal A0l
U I o1 faed a1 ghm?

1. dR¥

2. Hrar

3.39

4. AHBIA

Correct Answer :-

27) g fRf3ar -
T AR
qU-s 3 & ae
A, W H @A g
ag S Fandt RAfar
A 3wt ¥ g WK B
g Rfsar -



Fs @

§¢ ga-aT F @R
3BT F M A &
ﬂ?ﬁﬁﬂ'#ﬂgﬁtﬂﬂ%l
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w=A: fafean &1 gfcd «ar 82
1. Rz

2.8 @ BIS
3. /=
4. A=t

Correct Answer :-

28) gg fRfsar ai-
T AR
qU-s S F =
A, WA @ AN §
g% oK Fa Rfsar
TH el § TG WK §
g Rfsar -

Fo W T

§¢ T- ST HEfaR

W 3BT FT W A
g X g are R
A R § 9gd WX ¥
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I FT AA F AT @
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wea: s &1 3 g7
1. #f15-3113

2. 5

3. fafard

4, Uhid

Correct Answer :-

29) g fRfsar -

I AR
qU-sX [ F &=
A, I @mANE
I o9 wat Rk
A 3wt § g 9N T
g Rfsar -

H3 @i FT

§¢ g- T HFErfeaR

W 33 HT I AN}
g oY 5 are R
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g Rfsar -
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1. ST

2. SO @A

3. fast

4., 3ol

Correct Answer :-



30) Tg Rf¥ar s-

I AR &

qy- X EF a=

A waIEmad
9% o9 wa Rk

AH I § TG WK §
g Rfsar s

Fs @

§¢ ga-amET F @R
3BT F M AT &

7 e ¥ aga @R R
g Rz -
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3. 378 Ted drell
4, fATer @A arer

Correct Answer :-

o g & drel

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural



occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Who found Mary Toft’s story credible?
1. Doctor John Howard from Guildford

2. England’s greatest doctors and scientists
3. The King

4. Nathaniel St. Andre and Samuel Molyneux

Correct Answer :-

e Doctor John Howard from Guildford

2) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27t Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Who ruled Britain in 17262
1. Doctor John Howard

2. Prince of Wales

3. Queen Victoria

4. King George |

Correct Answer :-

* King George |

3) Read the passage carefully and answer the question given below:



In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

What was the curious case of Mary Toft?

1. It was the strange instance where Mary Toft appeared mad and fooled people

2. It was the story of Mary Toft, who had given birth to something resembling a puppy
3. It was the story of twenty-five-year-old servant who could not read or write

4. It was an elaborate prank that fooled much of Britain

Correct Answer :-

« [t was an elaborate prank that fooled much of Britain

4) Read the passage carefully and answer the question given below:

In 1726, a curious case of Mary Toft fooled much of Britain. Mary Toft of Godalming, near Guildford,
in Surrey was a twenty-five-year-old illiterate servant, who claimed she had given birth to a litter of

rabbits. According to reports that reached the court of King George I, on September 27th Mary had
given birth to something resembling a liverless cat. The reports noted that Mary had lost the child
she was carrying just a month earlier in August 1726 and nevertheless had continued to appear
pregnant until the baffling incident.

The story gets stranger when a Guilford doctor named John Howard visited Mary and over a period
of the next month assisted and recorded the delivery of many different animal parts. She had
produced a rabbit’s head, the legs of a cat and in a single day, nine dead baby rabbits. England’s
greatest doctors, scientists and the King’s secretary were informed about these supernatural
occurrences. A Swiss surgeon-anatomist named Nathaniel St. Andre and secretary to the Prince of
Wales named Samuel Molyneux were dispatched from the Royal court to investigate this mysterious
case.

Select the person dispatched from the Royal court to investigate the curious case of Mary Toft.
1. Doctor John Howard from Guildford

2. King’s secretary



3. Prince of Wales

4. Secretary to the Prince of Wales

Correct Answer :-

o Secretary to the Prince of Wales

5) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

What part of the day is the poet referring tojinjthe given lines?
1. Evening

2. Dawn

3. Afternoon

4. Mid morning

Correct Answer :-

6) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,

forked tongue licking and flashing,



a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

Which of the following statements is not true about the creature?
1. It was very agitated.

2. It was resting under the slab of stone.

3. It was a very young snake.

4. It must not have been hungry.

Correct Answer :-

e It was very agitated.

7) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

The words, ‘two hands long’ in the last but one line refers to:
1. All of the above

2. The two hands the snake

3. The distance between the snake and the poet

4. The length of the creature

Correct Answer :-



e The length of the creature

8) Read the following lines of a poem and answer the question given below it.
Early morning, the day before yesterday,
under a slab of stone,
in a crack,
eyes glittering,
forked tongue licking and flashing,
a frog swelling his belly,
he lay there quietly:
a baby snake, two hands long,

a green snake.

What is spoken about in the given lines?
1. A green baby snake

2. A green snake

3. Asnake

4. A frog swelling snake

Correct Answer :-

e Agreen baby snake

9) Fill in the blank with the correct option in the given sentence:

| am tall--- than the rest of my classmates.

1. ---ful
2, ---tion
3. —est
4, —er

Correct Answer :-



10) Fill in the blank with the prefix in the given sentence:

Certain external policies enforced by the country tend to ---- value its currency.
1. de-

2. free-

3. re-

4. less-

Correct Answer :-

e de-

11) Fill in the blank with the most appropriate conjunction .

he waited for his doctor’s appointment, Rahul sat in the waiting room reading the
newspaper.

1. Even if
2. While
3. Besides when

4. Since

Correct Answer :-

« While

12) Fill in the blank with the correct option from those given below:

Theteam ___ walked away with the prestigious trophy.
1. triumphant
2. triumphing
3. triumphed

4. triumphantly

Correct Answer :-

« triumphantly



13) Which of the following options best combines the two given sentences?

He is weak. He will pass.

1. Despite of his weakness, he will pass.
2. He is weak and he will pass.

3. He is weak, so he will pass

4. He is weak, but he will pass

Correct Answer :-

* He is weak, but he will pass

14) Choose appropriate articles for the given sentence:

My aunt lived on ground floor of old house on River Thames.

1. the, an, the

2. a, the, no article required
3. an, no article required, the
4, no article required, a, the

Correct Answer :-

« the, an, the

15) Choose the appropriate option that rewrites the given sentence in its active voice.

We are served tea at 4.30 pm in the canteen by the servers.

1. We have been served tea at 4.30 pm in the canteen by the servers.
2. We were served tea at 4.30 pm in the canteen by the servers.

3. The servers will be serving tea at 4.30 pm in the canteen.

4. The servers serve tea at 4.30 pm in the canteen.

Correct Answer :-



e The servers serve tea at 4.30 pm in the canteen.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

Modern emancipated women demand equal opportunities in the workplace.
1. immortalized

2. solidified

3. weakened

4, liberated

Correct Answer :-
o liberated

17) Choose the appropriate tenses to fill in the blanks in the given sentence :

Ifyou_ away now, your friends you.
1. went, would have missed

2. go, will miss

3. gone, missed

4. can go, can miss

Correct Answer :-
e go, will miss

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Her work in the field is praiseworthy.
1. valiant

2. laudable

3. creditable

4, dishonorable

Correct Answer :-



o dishonorable

19) Choose the appropriate pronouns for the following sentence:

Itisfor __ to take a decision whether ___ want to be with____ or not.
1. they, who, it

2. he, him, they

3. who, him, them

4. them, they , us

Correct Answer :-
o them, they, us

20) Choose the appropriate prepositions for the given sentence:

Charan asked Dianato come _____ his house so they could go the revision papers
1. into, from

2. into, with

3. to, for

4. over to, through

Correct Answer :-

e over to, through

21) Choose the option that best explains the highlighted expression:
The orator’'s comment about the recession was wide of the mark.

1. not to the point

2. precise

3. indirect

4. very scanty

Correct Answer :-

» not to the point



22) Choose the option that best explains the highlighted expression:
At the end of the meeting the chairman proved to be a man of straw.
1. a worthy person

2. a man of no substance

3. an unreasonable person

4. a flexible person

Correct Answer :-
e aman of no substance

23) Choose the option that best transforms the sentence into its Indirect form:

He said, “"Oh dear! I have spilt the milk again!”

1. He cried oh dear and said that he had spilt the milk again.
2. He sighed and said | had spilt the milk again.

3. He sighs and says that he has spilt the milk again.

4. He sighed and added that he had spilt the milk again.

Correct Answer :-

o He sighed and added that he had spilt the milk again.

24) Choose the option that substitutes the given phrase appropriately.

A small enclosure for cattle, sheep, poultry, etc.
1. Cellar
2. Kennel
3. Stable

4. Pen

Correct Answer :-

25) Read the sentence carefully and choose the option that has an error in it:



The backbone of the single-humped camel is not curved upward in the middle, like many people
suppose.

1. is not curved upward
2. like many people suppose.
3. The backbone of the single-humped camel

4. in the middle,

Correct Answer :-

 like many people suppose.

26) Change the given statement to indirect speech.

“What did you eat for breakfast today?” The doctor asked me.
1. The doctor asked me if I had eaten breakfast that day.

2. The doctor asked me if I ate breakfast that day.

3. The doctor asked me what I had eaten for breakfast that day.

4. The doctor asked me if I have eaten breakfast today.

Correct Answer :-
» The doctor asked me what I had eaten for breakfast thatiday.

27) Choose the right tag:

Raghu's parents hate roast potatoes, ?
1. do they

2. aren't they

3. haven't they

4. don't they

Correct Answer :-

e don't they

28) Fill in the blank with the most appropriate preposition from the options given.



There is something vague this contract; I will ask my lawyer to check it.
1. on

2. about

3. for

4. by

Correct Answer :-

» about

29) Choose the most appropriate determiner from the options given below.

Janu and Malini applied to the air force. woman was appointed.
1. Neither

2. Many

3. Either

4. Both

Correct Answer :-

e Neither

30) Choose an appropriate modal for the given sentence:

You borrow my new book until you return my old one.
1. could not

2. would not

3. may not

4. ought not

Correct Answer :-

e may not

Topic:- Mathematics (MAT)

1) If xy=1 then factorization of x+y+2is: /



gfe xy=1 o X+y+2 BT U %:
1. (x+1)(y+1)

2. (x+1)(y-1)

3. (x-1)(y+1)

4. (x-D(y-1)

Correct Answer :-

o (x+1)(y+1)

2) Match the following:-

i. 1 added to x a) -5q

ii. 8 subtracted from p b)x+1
iii. -5 multiplied by q c)p-8/
Frafafaa &1 e «¥-

ixd1 \‘:ﬁ@F-lT a) -5q

ii. p ¥ 8 eI b) x + 1

iii. -5 @I q I O BT c)p-8
1.i—b, ii—a, iii — ¢
2.i—b,ii—c¢,iii—a
3.i—c,ii—a,iii—b

4. i—c,ii—b,ili—a

Correct Answer :-

e i—b,ii—c,lii—a

3) All round development of a child is reflected through ./

U 9 ST ganior e & ArAw § uiafae giar 21
1. Anecdotal record / gl (TAdsIce) TG

2. Case study record / TIThITd 3CTTS (b Tear) AT
3. Cumulative record / TR 3{Herg
4. Scholastic record / Af&® 3fIo@

Correct Answer :-

 Cumulative record / @@y 31fFerg



4) In aright angled triangle the square of the hypotenuse is twice the product of the other two
sides. Find one of the angles of the triangle. /

TH FHSH Y & Bl &1 @t 3o Y Yorait & YUt &1 ST ] 1 Ay & Hion & A U i B

4 60°

Correct Answer :-

5) Who among the four is not a non-Euclidean? /
IRI # A I TP TR-gfaarsa 81 82

1. Renaissance / TSRO (A=)

2. Bolyai / dfed1s

3. Lobachevsky / eliaiedhT

4. Enclid / Tdfdrers

Correct Answer :-

 Enclid / tdTFas

6) If two cubes each of edge 10 cm are joined end to end, then the surface area of the resulting
cuboid is ./

10 T fFR I T TS RRT A 98 €, A uRvmi ey s gl eawa g1
1. 1500 sq cm /
1500 TaT Jafr

2. 1000 sq cm /
1000 91 FA

3. 500 sqcm /
500 Tt {fr



4. 750 sq cm /
750 It QAT

Correct Answer :-

e 1000 sqcm /

1000 91 FA
7) 1f the mean of *V 2 %3 is 4, then the mean of 2xy, 2%, 23 is__./
gfg *vrers sTmw 4y, @ v PTHTE B
1.2
2.4
3.8
4.6

Correct Answer :-

8) What is the number of the diagonals we canidraw:from:one vertex of a polygon with 11 sides? /
11 Y3ff a1 S5y & U MY A 59 o fywvl Riffa o7 dad 82

1. 8

2. 10

3.9

4.7

Correct Answer :-

9) Which of the following statements is NOT true about whole number? /
fFafafae & @ gof Jensit & ddy & S19-31 $Y= 97 T8 32
1. 0 is a counting number but not a natural number. /

0 T IUTET AT HEIT §, Afhed Tdh Uihd TEAT A4 &l

2. The whole number 0 doesn’t have any predecessor. /



QO HEIT 0 H HIE qdach FEar A& @ ¥

3. The additive identity of all natural numbers is a whole number. /
Tt UTpd TEAT3T Y ATcHD TARTAT Th QUT TEAT e ¥l

4. The predecessor of the first two digit number is always a single digit number. /
e @1 3T T T B qiadt GEAT e wh I GE e ¥

Correct Answer :-

« 0 is a counting number but not a natural number. /

0 U IUTAT I FEAT &, oAfched Th UIpd TEAT el o

10) Which one of the following statements is true about integer? /
fFafafae & @ $19-91 o34 [uife & 64y & 99 32
1. On dividing a negative integer by a negative integer we get a negative integer. /
TP BUNTHS QUi Bl T BUMHS QI J fAUTRIT B TR 89 HUeTd Yuiies U gl §
2. On subtracting a negative integer from a positive integer we get a positive integer. /
UF GATcHS QUITh 8 Udh HUMcHD YUl &l Ol IR §H Uh GellcHAd QUi Uid &idl &l
3. When a positive integer and negative integer is added we get a negative integer. /
ST Ueh YeATcHD qulieh HR FHOMcAD Uit @SSl SIdl & Al gl SUlcHS qolieh Utd &idr &

4. On multiplying a negative integer with a positive integer we get a positive integer. /
T FHUNcAD QUITh & Y Th YedTcAd Ui Pl UM I W &H YeATcAD quIteh 1d BT &
Correct Answer :-

» On subtracting a negative integer from a positive integer we get a positive integer. /

UF UACHS QU ¥ T HUMCHS QUi Pl Ol W §H Th Geleaad Qo U giem ¢l

11) Which one of the following statements is correct about number? /
fFrafafEa & @ $9-91 $Y= SBn & J9Y § I 82
1. Nine is a prime number. /
A Th ST TEAT B
2. There are only 9 prime numbers below 20. /
20 ¥ A dad 9 FHST FEAW E

3. Every number is a multiple and factor of itself. /



YA HEAT T B T IOTh AR " BT ¥
4. Number of multiples of a given number are finite. /

& & wwa & U F1 e A et B
Correct Answer :-

» Every number is a multiple and factor of itself. /

UcAd TEIT TG H Uh U6 AR ged ol

12) A train covers a certain distance at a uniform speed. If the train had been 5 km/hr faster it
would have taken 1 hour less than the scheduled time. And if the train had been slower by 20 km/hr,
it would have taken 6 hours more than the scheduled time. Then the distance covered by the train

is: /

TP 31 U QU 91 § T« g3 U [ gt a1 st 81 afe 29 5 it/ ver A 9ra @ gadt & @Y 98
FRruffa Twa A 1 ge1 w9 At 3 3R afe 37 20 i/ ger dhft nfa & ga<dt 8 @ Fuffa T0a A 6 @2 it
A 3, A 2 gRT a7 A g R
1. 2240 km /
2240 fpal
2.2000 km /
2000 feral
3. 1050 km /
1050 fehaly
4, 1080 km /

1080 feral
Correct Answer :-
e 1050 km /

1050 fohd



In the given figure, if #C=40°, then #A and #Bare:
B

A C

& % Y &, A £C=40° B, LAUd £BE:
50°.90¢°

100° 40°
2.

40e.100°

90°_50°
4,

Correct Answer :-
40e=.100°

14)

In a circle centred at “A’, the angle between AB and AD is 80° where points B and D lie on the
circle. If Clies outside the circle and CB and CD are the two tangents . then the value of angle

BCDis ./
A FE ai T dcd H, AB td AD & IS &« HIUT 80° @, o161 fdg B td D ded W
feora §1 afg C gca & seg & g § d2r €B 3R €D & waeiar §. df &1 BCD

& AT B

110°
1.

100°
2.

120°
3.

4 90

Correct Answer :-



15)

AAEBC is an isosceles triangle in which AF = AC. Pis a point inside the AABC such that
APE( is an equilateral triangle If #4 = 30°then find #ABP.

ﬁﬂﬂCWWﬁ@ﬁﬂH%ﬁﬂﬁﬂB=ﬂC 81 AABCH 3T U g P 30 @ €
%apﬂcwm@'ﬁajaﬁl qfe 24 =30°%, dF 2ABP T I

A50
1 45

15°
2.

5@
3.

250
4.

16) 1, ADEF 2D=60°,,F=50° then /

ADEF &, +D=60°+F=50°4r:
1. FE>DF>DE
2. DE=FE=FD
3. DE<DF<EF
4. DE<FE<DF

Correct Answer :-

o DE<FE<DF

17)

Ifthe sum of the squares of zeroes of polynomial 6x? + x + k is % ,then the value of kis .

aﬁagﬂtex2+x+ké;aﬁ$‘ia?aﬁfﬂam§ gal k&r AT B

1. -2



£
, 2
3.2

4.3

Correct Answer :-

., 2
18) , 1 1
Find the value of x* + = when x — == 2
Jd x—- =28, a x?+ S & AT A W
1.2
2.8
3.6
4.4

Correct Answer :-

19)

Ifthe tangents PA and PB from a point P to a circle with centre O are inclined to each other at an
angle of 80°, then £POA = .

gig vk fdg P & Ut “O" &g arell U ded &1 aF Taef Y@¢ PA @ PB Tdh-g@Ey @
80° & ®IvT W WA §, ar zPoA= |

80°
1.

50°
2.

250
3.

30°
4.

Correct Answer :-

50°



20)

The average temperature of Mondav, Tuesday and Wednesday was 40°C. The average
temperature of Tuesdav, Wednesday and Thursdav was 41°C. Ifthe temperature on Thursday
was 42°C, what was the temperature on Mondav?

HIHAR, AR U4 gUaR & 3iad argae 40°C A1) AIeaR, g9aR Ud 7aR &l
sra am#ATT 41°C om I IFER FT AT9ART 42°C o, dF HHAGR HF d9A= fhde
or?

41°C
1.

38°C
2.

40°C
3.

30
4.

Correct Answer :-

39°C
21)
Find stA+£D & £B + £C of a cyclic'quadrilateral " ABCDVin which
LA=3x-1.sB=y2 sC=2%+6&sD=5z+7 1
U Tehig Igsiel ABCDH £A +./DUd £B+2C AT &,
o LA =3x-1, /B=v2, sC=2y+6Td +D=5x+7 &I
2067, 154°
1.
200°, 160°
2.
175°, 185°
3.

168°, 192°

Correct Answer :-

206°, 154°



22)  An exterior angle of a triangle is 135% and its two interior opposite
angles are equal. Each of these equal angle is:

T TS T 9 HIOT 135° § TN $6E &1 Id: TEIE HIOT
AW &1 58 T I3F I &

47 ¥
1.

52 ¥4°
2.

67 ¥4
3.

450
4,

Correct Answer :-

67 150

23)
Find the value of x in the given figure.

0 50/\25
B C

A
/& TS AT H, x FT AT AT

130°

85°

110°

Q0°

4.

Correct Answer :-

85°



24) . . 5
The property that allows to calculate G x i) + (i X i) = ; is= .t

11 3 11
ar Fle @ aor § & (Exi) +(5xﬁ}=5 & IOTAT d IFAT el b

1. Associative property /
rged um

2. Distributive property /
facor o1

3. Closure property /
HaReD 01

4. Commutative property /
AR 0T

Correct Answer :-

« Distributive property /

25)
In AABC. £C = 90° | BC=AC=3\/2 giken AB=_ | |

AABC #, 2C=90°  BC=AC=3/2 . dTAB=

1.5
2.7
3.8

4.6

Correct Answer :-

26
) In a quadnlateral ABCD, #+A+ 2Cistwo times £B+2D_If

£A=140° and £ D=60° , then £C=?
U& Il ABCDH. £A +£C, £B + 24D &7 SR 1
afg £A=140°3R £D=60°dr 2C=?



Correct Answer :-

100°

27)

Geetha had Es 600.She spends% of her monev on note- books, é of the remainder on

stationary items and % of the remainder on cosmetics. How much money is left with her?
AT & 9 600 T A| TF AegH T IHIS N & -, @ A W AT F - 3R
WWW&WH%@%W%; 305 9T fohdeit Ter 9T &=7 o7

1. Rs 120/
120 *qU
2. Rs 200/
200 ®UU
3.Rs 300/
300 ¥qU
4. Rs 320/

320 %30T

Correct Answer :-
e Rs200/
200 TqU

28) Choose the number not divisible by 11. /
11 & fyuifora 78 g9 arclt S=n &1 999 HI

1. 1230321



2. 50169306
3. 902154

4. 6138165

Correct Answer :-

e 1230321

29) Find the sum of perimeters of an equilateral triangle and a regular pentagon whose both side is
4cm./

T gHaTg YW 3R e Frafia days ot ufiftry o1 9 e &, Rrrat S Yo 4 9 §1
1.32cm /
32 @l
2.252 cm /
252 QA
3.36cm /
36 el
4.62cm /

62 QT

Correct Answer :-
e 32cm /
32

30) Find the perimeter of the triangle whose sides are 4 meter, 5 meter and 60 cm. /
By &1 uftmg gma #3, st Yo 4 Hiey, 5 ez v 60 It §1
1. 69 meter /
69 X
2. 9.6 meter /
9.6 #IY
3. 3600 meter /

3600 X



4. 6.9 meter /
6.9 #Hrex
Correct Answer :-

e 9.6 meter /

9.6 #HeX

31) ABCD is a parallelogram and the midpoint of the sides of ABCD are joined to form another
parallelogram PQRS. If the area of PQRS is 20 cmz, then the area of ABCD is ./

ABCD T% JUMIAR Igys & 9UT ABCD & Y=ii3ii & qeafdg fraes T 31 wamiar agys PQRS &1 fmtor
FRat 81 afe PQRS HT &A% d 20 A2 8, 9 ABCD FT &A% __ 3|

1. 80 cm? / 80 {aM?
2.40 cm? / 40 QA2
3.100 cm? / 100 {2
4.1600 cm? / 1600 THI2

Correct Answer :-

e 40 cm? / 40 2

32) A numeralis the ./

T G&IH gl

1. position of an element in a sequence / Uh 3HJhH ﬁ Uh dcd ﬁ f@—lﬁ'r

2. symbol to represent a number / U J&IT & UTd A Tcd Pl Udiih

3. cardinality of a set / Teh Hzzd T TH Gl
4. none of the above/mﬁﬁiﬁéaﬁ

Correct Answer :-

« symbol to represent a number / Teh J&IT & YT AT &l Ul

33) There are 100 cookies in a packet. If there is ‘m’ packets, then total cookies can be written as: /

T TP U 100 P 21 Afe Tdhel 3t & 'm’ B, A FPIoI B Fol JBT Y e o1 qove 3:



2. 100m
3.100 + m

4. 100-m

Correct Answer :-

34) Algebra is al-gebra =al-jebr wa'almuqabala. The translation of equivalent words of aljebr and
wa’'al muqabala is and , respectively. /

Req Algebra, al-gebra =al-jebr wa'almuqabala %I aljebr 3R wa‘al mugqabala & qHadT Usq] BT
3arg 3R Bl

1. restoration , reduction / Gel: T, TTI

2. restoration , challenging / Gel: ETU, g«“—ﬁ?—ﬁ

3. restoration , proving/g?f:i-qu-lo-l, &g Pl

4. balancing, solving / ¥, JHIYH

Correct Answer :-

e restoration , reduction / 9 &d14d, g2

35) ‘Gitika’ by Aryabhata is a collection of: /

Vg gRT WRgd “Wd®dr ______ &1 U W% ¢

1. Kalakiya — Work on time and measure / PIATPIAT-GHAT 3R AUT WX FrT
2. Problems on Arithmetic / 3/ITTOTd UT FHTAT3T

3. Gola (Sphere) / 3el (31G)

4. Astronomical tables / TINeiTT dATforehId

Correct Answer :-

e Astronomical tables / M drferehry

36) Micro Teaching technique was brought to India by ./



& ST (HTSep! IR dP-te, HRd # FNEIERIER
1. Atkinson / Tefhae

2. B.K . Passi /.. Trl

3. Allen / TeTeT

4. Anderson / USTHA

Correct Answer :-

e BK.Passi/&.&. gray

37) Unit plan for teaching mathematics is done in the ./
Tifora fRreror & e go1s TS H P Sl B

1. post-instructional phase / U‘l'\'-_c'-}lcja?”cd-iqv YU

2. pre-instructional phase / 9T-31 ojan [cHP I

3. teaching-learning phase / TreToT- 37T TR

4. evaluation phase / d-L(%IiCIWI Y]

Correct Answer :-

* pre-instructional phase / l;ﬁ-}loja?ll(-d-lqv U]

38) Thorndike's ‘Law of Readiness’ is made use of in the / Q«I'Ff@'lw & “dURAT BT
w1 3w o forar Srar g1

1. Unit Plan / 3obTS AT

2. Lesson Plan / UTS ASTAT

3. Home Work / 7& &1

4. Preparation of objectives / 38231 T LR

Correct Answer :-

« Lesson Plan / UTS TSl

39) 2x+3y=10 has: /

2x+3y=10 =r:



1. No solution /

PE & A T

2. A unique solution /
T fadw & B

3. Only two solutions /

had gl & &l

4, Infinitely many solutions /
AT T QA F T o
Correct Answer :-

« Infinitely many solutions /

AT T A T3 T o

40) Mensuration integrated with geometry makes drawing of regular shapes introduced to children in
four ways -

1.aesthetic

2. approximation

3.comprehensive

4. association

This is known as ol

SR & arr gAfwa dEfafa o g srefaat @ fafe gare st == F e ) adst
#uﬁaglr-

1. gefaqer

2, giesrdes

3. 9%

4. grgad

FW__ HFTIATACATE

1. Technique of approximation / fcedhce P dhelldh

2. Technique of mathematization / ITTOTATRROT T deheileh
3. Technique of quantization / GRHATONAEIOT HY dheileh

4. Technique of ideation / fIROT &Y Aheilch

Correct Answer :-



« Technique of quantization / TRHATONHIT T deheilch

41) Choose the pair that is not twin prime. /
39 PIA FT 94F F{ A WIFT AT G §
1. (91, 93)

2. (59, 61)

3. (41, 43)

4. (101, 103)

Correct Answer :-

« (91,93)

42) If PQ and RS are two equal and parallel chords, the distance from centre to PQ is 5 cm, then the
distance between PQ and RS is: /

g PQ 3R RS & s 3R @A’ Sftar § & @ PQ & g 5@+ 8, & PQ 3k RS & &fiw #ir gl
et &

1. 10 cm/

10 |
2.25cm/

25 |4
3.25cm/

2.5 @
4.5cm/

5 QT
Correct Answer :-
e 10cm/

10 T

43) Which of the following formula holds good for zeros of a quadratic polynomial? /
frfaf@a # @ i a9 gfawd ague & T F w@ a0F § aReT war §?

1. Product of zeros = coefficient of x/constant term /



[ &I YUH= x BT UM/ 3R UG

2. Product of zeros = Constant term/coefficient of x /
YA DT M= 3R UG/ x HT YUl

3. Sum of zeros = -(Coefficient of xz)/coefﬁcient of x /
[ 1 A=~ x? BT T0D)/ x BT 00

4. Sum of zeros = -(Coefficient of x)/coefficient of x /
[ BT GMT=-( x BT )/ x2 FT [0l

Correct Answer :-

+ Sum of zeros = -(Coefficient of x)/coefficient of x2 /

A BT ART=-( x BT UMH)/ x2 &1 0l

44) Pythagoras established the order called ./

BRI AHF ST A TG R

1. Figurative numbers / TeIhIRD TET
2. Brotherhood / W

3. Pythagoreans / GISATIRA

4. Mathematics / 10T

Correct Answer :-

« Pythagoreans / UTSUTIIRA

45) Vedanga jyotisha in astronomy was compiled in 1200BC by ./

g A # 0T ST F 1200 W qE F __ g@RT @ A = an
1. Aryabhatta / T HCC

2. Sulbakar / gedTehT

3. Bandyama / G

4. Lagadha / ofammdr

Correct Answer :-

» Lagadha / ofamer



46) The length of the arc of a sector is 22 cm and the area of the sector is 231 sq cm then the angle of the
sector is: /

TF @3 & 919 1 dar$ 22 FA 3 @5 w1 e 231 goF FA &, A @3 1 ;o7 [T &

0
N 60

Correct Answer :-
60°

47) The perimeter of two circles are in the ratio 2:3, then the ratio of their areasis ./
ar gat # IR F7 qura 2:3 7, A 39F T HT IS gl

1.2:3

2.4:9

3.3:2

4, 9:4

Correct Answer :-
e 4:9

48) A, B, C and D are positioned at (12, 2), (16, 4), (18, 8) and (2a, 6). If the points are joined a rectangle
ABCD is formed, find D’s position. /

AB,C Td D (12,2), (16, 4), (18,8) Ta (2a, 6) W Ry & I Regat # fremar sw @ v 3maa ABCD
a7 ot &, @Y D i RRufy s #:X

1. (14, 6)
2. (13, 6)
3. (11, 6)

4. (12, 6)

Correct Answer :-



49) One of the objectives stated below is not measurable and that is: /

AR REITIERIA A A w AT adr g silvaw B

1. To develop critical thinking. / 3Te<T del @ [ApAd &= & forw

2. To identify their shapes in the nature. / Upfd & Jeehl 3Mpiadt H ugard dHa & fow

3. To illustrate equal sets / THTA -deulq\i & Il I & forw

4. To recognize rational numbers. / THTIT TEATHT BT Ugd I & folT

Correct Answer :-

« To develop critical thinking. / 3Tge? Ride @ fawfld & & fow

50) Which of the following is an open-ended question? /
farafaf@d 7 @ sl v Nva-v3s qeT 72

1. Anusha has a total of 50 Rupees. What are the possible denominations she can have? / STJYI o U Pl

50 ¥
g1 3P TN SHIfad Jeaat! a1 ergeha 67

2. Area of a square is 400 cm?. What are the possible values for the side of the square?

/ Wb 3T BT &1l 400 HHI2 | a7 <hY 31T o Torw Feriad AT &ram &2

3. Prove that the square of an even numbers is even. /@z{aﬁﬁsmmﬁwm‘r

JARATS
4. State Pythagoras theorem / UISUTIRY UHYT &l IdTT |

Correct Answer :-

« Anusha has a total of 50 Rupees. What are the possible denominations she can have? / 3{JUI & U

%d 50 3T
g1 3P U GHIfad Jeaa! 31 8 9ohd &2

51) Which of the following is not under remembering objective? /

Arafaf@d & @ Fia ol v & sraeta a8t 3mar &2



1. Measures accurately / JATY ATIA HIAT

2. None of the above / 3TURTh H & Bl el
3. Recall term / TIAIONY Qe

4. Recognizes formula / I UgdTelall

Correct Answer :-

« Measures accurately / AT AT HIAT

52) ‘Mathematics is the mirror of civilization’ was stated by: /

A0S HIAAT HT YT &I’ 1% GIRT gl IAT:

1. Newton / =gcdl

2. Euclid / JfFeTs
3. Hogben / gT:uaa
4. Plato / Tl

Correct Answer :-

. Hogben / RTa

53) Choose the correct statement about integers. /
qoifel & v & ¥ Fya F1 9799 |
1. Subtraction is commutative for integers /

gerd quie & o fafaasha g g

2. Addition is associative for all integers /

arr et quitent & o @l aar R

3. Division is associative for all integers except 0 /
fasstar 0 A SiEa T YUt & fow aead & #

4, Whole number are closed under addition & subtraction /
got Fear Ader 3R geE F HAd 3aeg e §

Correct Answer :-



» Addition is associative for all integers /

Aot w3l uetel & T eedh A 3

54) Which one of the following statements is true about power/exponent? /
fFrafafad 9 @ S9-31 FY ua/9die & 99y T I 82
1. In 102, 10 is the power and 2 the exponent /
102 &, 10 &1 3R 2 °raw &
2. (Sa)IO = 5aP
3. 10000 is the exponential form of 10* /
10000, 10* &T ©Tdih &7 §
4. 216 is the third power of 6 /

216, 6 I AT O &

Correct Answer :-
e 216 is the third power of 6 /

216, 6 & G 10 &

55) Which of the following is the multiplicative identity in the set of whole
numbers? /

fFrafafaa 3 ¥ s9-a1 7of Jensit & ag=a § uidrs GuEdr 8?2
1.1
2. All whole numbers /
Tl ot geard
3.0

4. -1

Correct Answer :-

56) What will be the sign of the product if we multiply together:

1. 9 negative integers and 4 positive integers



2. 5 negative integers and 5 positive integers

3. 4 negative integers and 7 positive integers

4. 8 negative integers and 5 positive integers

5. (-3), 2n times, n is a natural number. /

gfe g9 378 ST H IO HRd & df YU &I KIg 71 ghm:
1. 9 BUTHSD YUITP 3 4 YIS QUIiH

2. 5 BUTHSP QUITH 3R 5 YIS QUIiD

3. 4 BUTHS QUITP 3R 7 YATHSD YUIH

4. 8 BUMTHS YUITH 3R 5 YHATHP QUID

(-3), 2n SR, n TS UIHd =T ¢

1. i — positive, ii — negative, iii — negative, iv — positive, v —negative /

i — YATHD, ii — BUMHD, iii — BUTHB, iv — YD, v — BUTHD

2. i — positive, ii — negative, iii — negative, iv — positive, v — positive /

i — YD, ii — BUTHD, i — BUTHD, iv — YIHD, v = YATHD

3. i — negative, ii — negative, iii — positive, iv — positive, v —positive /

i = BUMHD, ii— BUTHD, i — YFIHD, iv — YIIHD, v — YAlHSD

4. i — negative, ii — negative, iii — negative, iv — (positive, v —positive /

i — BUMHD, ii — BUMHD, iii — BUTHD, iv — YATHD, v — YATHD

Correct Answer :-

e i—negative, ii — negative, iii — positive, iv — positive, v —positive /

i — BUMHD, ii — BUTHD, iii — YD, iv — YAIHD, v — YATHD
57) Express 15625 as a power of 5. / 5 % HTd ¥4 § 15625 P oG P |
1.4
2.5°
3.5°
4. 6°

Correct Answer :-

o 5b



58) When N is a set of all natural numbers, W the set of all whole numbers, Z the set of all real
numbers, then which of the following is true?/

gfe N Tt wrpa wemsit &1 te wg=y 8, w 9t quifet @1 wgw @, z 9t arafas densit &1 au=y B,
@t frfafaa o @ #9-ar 9w 82

RcZcWcN
1.

WcNcRcZ

3 NcZcWckR

NcWcZcR
4,

Correct Answer :-
NcWcZcR

59) A(3,5) and B(-3,5) are the end points of the diameter of a circle. Find the centre of the circle. /
A(3,5) T4 B(-3,5) T® 9 & 9 & oifaw g &1 990 &1 g 91 B9

1. (5,0)

2. (6,5)

3. (3,0)

4. (0,5)

Correct Answer :-

60) If one zero of the quadratic polynomial is x~2+3x+k is 2, then the value of k=

gfe fgama 9gUe xA2+3x+k BT TS AP 2 8, Ak HTAN = |
—10

1.
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